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PHYSICS

BOOKS - ICSE

FORCE AND PRESSURE

Numerical Problems On Moment Of Force

1. The hinge of door is at a distance of 40 cm

from the point of application of force. If a


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YiZ1rAGv6Cfb

force of 20 N is applied, what is the magnitude

of moment of force ?

° Watch Video Solution

2. What is the perpendicular distance between
the force and the turning point if a force of 25

N produces a moment of force of 12.5 Nm ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YiZ1rAGv6Cfb
https://dl.doubtnut.com/l/_hLX3k5P1jAFv

3. A force of 25 N acts on a body of area of
cross-section 20 c¢m?. Calculate the pressure

exerted by the body in pascals.

o Watch Video Solution

4. What is the magnitude of force required in
newtons to produce a pressure of 27500 Pa on

an area of 200cm??

o Watch Video Solution



https://dl.doubtnut.com/l/_xvEOHsFpaRbS
https://dl.doubtnut.com/l/_1GoV3mTDky3A
https://dl.doubtnut.com/l/_jzjAzLyy18mB

5. A force of 75 N can produce a pressure of
150,000 Pa. Calculate the area in em? on which

the force acts.

o Watch Video Solution

Exercise 3 1Fill In The Blank

1. The ratio between the and

is called pressure.

o Watch Video Solution



https://dl.doubtnut.com/l/_jzjAzLyy18mB
https://dl.doubtnut.com/l/_oQw5DeQgF0K5

2. When a force of one acts on an

area of cross-section 1m?, the pressure

exerted is said to be one

o Watch Video Solution

3. The cutting edge of cutting instruments is

sharpened because, by the area of

cross-section , the

o Watch Video Solution



https://dl.doubtnut.com/l/_MggdBHE1fPay
https://dl.doubtnut.com/l/_Ri735OruTRiW
https://dl.doubtnut.com/l/_l6JsRDgMOm6d

4., The broad tyes of a tractor
pressure on the soft ground, and hence,

prevent it from in the ground.

o Watch Video Solution

5. With the increasein force, the magnitude of

pressure on a given darea

o Watch Video Solution

Exercise 3 1 True Or False


https://dl.doubtnut.com/l/_l6JsRDgMOm6d
https://dl.doubtnut.com/l/_TR6Pitv9m8CU

1. Thrust per unit area is called pressure.

o Watch Video Solution

2. One pascal is the pressure produced by a

force of 1kgf on a surface of 1m?.

o Watch Video Solution

3. Pressure increases with the increase in

surface area. True/False.



https://dl.doubtnut.com/l/_ECLV8CalXeYn
https://dl.doubtnut.com/l/_LgduHOm85V7P
https://dl.doubtnut.com/l/_OiZ3zwNWGtCn

o Watch Video Solution

4. Pressure decrease with the increase in the

weight of an object.

o Watch Video Solution

5. Sl unit of pressure is newton.

o Watch Video Solution



https://dl.doubtnut.com/l/_OiZ3zwNWGtCn
https://dl.doubtnut.com/l/_2yam0nf4ysqz
https://dl.doubtnut.com/l/_hXfpGGuOHYAp

6. Long skies used by skiers reduce the

pressure on snow.

o Watch Video Solution

7.The broad side on thumb tack increases the

pressure on the thumb. True/False.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bj8FIzaJDS06
https://dl.doubtnut.com/l/_p3Gr3sDd6G4T

8. A blunt nail easily penetrates in wood than

sharp nail. True/False.

o Watch Video Solution

9. The edge of knife is sharpened to increase

the pressure. True/False.

o Watch Video Solution



https://dl.doubtnut.com/l/_8ZJxrtcLpvhw
https://dl.doubtnut.com/l/_EsKEEQfVN1y5

10. Foundations of high rise building are small.

True/False.

o Watch Video Solution

Exercise 3 1 Tick The Msot Appropriate Answer

1. With the increase in the weight of an object,

the pressure :

A. increases


https://dl.doubtnut.com/l/_nYLgKmBInhL1
https://dl.doubtnut.com/l/_5nan6eoQigfK

B. decreases

C. is not affected

D. none of these

Answer:

o Watch Video Solution

2. With the increase in the area of contact of

an object, the pressure :

A. increases


https://dl.doubtnut.com/l/_5nan6eoQigfK
https://dl.doubtnut.com/l/_5iIyC2Cp7cef

B. decreases

C. is not affected

D. none of these.

Answer:

o Watch Video Solution

3. One pascal is the pressure generated by:

A. force of 1 N on 1m?

B. force of 1kgf on 1m?


https://dl.doubtnut.com/l/_5iIyC2Cp7cef
https://dl.doubtnut.com/l/_fOKPuSqokh9Z

C.force of 1 N on 1000 cm?

D. force of 1N on 1 em?

Answer:

o Watch Video Solution

4.n order to glide on snow, one must wear

A. spiked shoes

B. flat rubber shoes

C.flat and long skies


https://dl.doubtnut.com/l/_fOKPuSqokh9Z
https://dl.doubtnut.com/l/_x3i4gayoPK5K

D. none of these

Answer:

° Watch Video Solution

5. The rear wheels of tank trailor have large

number of wheels so that:

A. they can withstand the load of tank

B. reduce pressure on the road

C. increase pressure on the road


https://dl.doubtnut.com/l/_x3i4gayoPK5K
https://dl.doubtnut.com/l/_PBpAmc95arhZ

D. all of these

Answer:

o Watch Video Solution

Exercise 3 1 Match The Statements

1. Match the Column - A and Column -B :

Column A | Column B
1. Buildings having very wide loundations. (a) Reducing force
2. Tools having very small surface area. | (b) Pascal
3. The ratio of thrust (force) and area of cross-section. | (¢) High rise buildings
4. The unit of pressure in S| system. | (d) Pressure
5. Decreasing the pressure exerted by an object, without (e) Cutting tools

changing its area of contact.

° Watch Video Solution



https://dl.doubtnut.com/l/_PBpAmc95arhZ
https://dl.doubtnut.com/l/_iKaKwi7Yp0hY

Exercise 3 1 Study Questions

1. State turning effect of force with example

from daily life.

o Watch Video Solution

2. Define moment of force and its unit.

o Watch Video Solution



https://dl.doubtnut.com/l/_iKaKwi7Yp0hY
https://dl.doubtnut.com/l/_TDGegJ91WwWd
https://dl.doubtnut.com/l/_wTEdEVMAQwZR
https://dl.doubtnut.com/l/_gyACDZWNnsP2

3. Define the term pressure.

o Watch Video Solution

4. State and define the Sl unit of pressure.

o Watch Video Solution

5. Explain the

Why are double tyres provided at the rear

wheels of a truck?

| = |


https://dl.doubtnut.com/l/_gyACDZWNnsP2
https://dl.doubtnut.com/l/_M6fzFo4vdvBM
https://dl.doubtnut.com/l/_treEJ77xSN8s

I O Watch Video Solution I

6. Explain the
Why can a camel easily cross the desert but

not a horse?

o Watch Video Solution

7. Explain the
Why are flat and long skies used for gliding

over snow?

l o Watch Video Solution


https://dl.doubtnut.com/l/_treEJ77xSN8s
https://dl.doubtnut.com/l/_zSPXnuEQkjdq
https://dl.doubtnut.com/l/_TB5nhUUDMFtN

8. Explain the
Why is the foundation of a building made very

wide, as compared to its walls?

o Watch Video Solution

9. Explain the
Why do the army tanks move over the wide

steel chain rather than on the wheels?

o Watch Video Solution



https://dl.doubtnut.com/l/_TB5nhUUDMFtN
https://dl.doubtnut.com/l/_XkCKYbuc0iyb
https://dl.doubtnut.com/l/_3CnL3A7AD35G

10. Explain Why is the edge of knife kept

sharp?

° Watch Video Solution

11. Explain the
Why is one end of drawing board pin broad
and flat, whereas its other end is pointed and

sharp?

o Watch Video Solution



https://dl.doubtnut.com/l/_3CnL3A7AD35G
https://dl.doubtnut.com/l/_QnubTheabVf0
https://dl.doubtnut.com/l/_xOLfsIm7sE7i

12. Explain the
Why does a sharp nail easily penetrate wood,

but not a blunt nail?

o Watch Video Solution

13. A force of 16 N acts on an area of 50 cm

What is the magnitude of pressure in pascal?

° Watch Video Solution



https://dl.doubtnut.com/l/_xOLfsIm7sE7i
https://dl.doubtnut.com/l/_mHhnik2SRhP3
https://dl.doubtnut.com/l/_zOLCbPlZYVON
https://dl.doubtnut.com/l/_RsfX4NeiRAkm

14. A force of 200 N acts on an area of 0.16 m?

What is the magnitude of pressure in pascal?

o Watch Video Solution

15. What is the magnitude of a force which
produces a pressure of 7000 Pa while acting

on a surface of area of cross-section 0.25m?2?

o Watch Video Solution



https://dl.doubtnut.com/l/_RsfX4NeiRAkm
https://dl.doubtnut.com/l/_sVKxlB80Lwx1

2 and

16. A force F acts on an area of 600 cm
produces a pressure of 12500 Pa. Calculate the

magnitude of F.

o Watch Video Solution

17. A force of 300 N, while acting on an area A,

produces a pressure of 1500 Pa. Calculate the

magnitude of A in cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_bQOXSaKO8ojv
https://dl.doubtnut.com/l/_J5HE4g576Z6r
https://dl.doubtnut.com/l/_Ul8FFR3SfAgL

18. What is the area of cross-section of a body

in m?, when it exerts a force of 50 N and

produces a pressure of 2000 Pa?

o Watch Video Solution

Exercise 3 2 Fill In The Blank

1. Pressure due to a liquid is of the

area of cross-section of containing vessel.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ul8FFR3SfAgL
https://dl.doubtnut.com/l/_8bamVqn1emOy

2. Fluids at a given depth exert

pressure in all directions.

o Watch Video Solution

3. Pressure exerted by a liquid with

the increase in depth.

o Watch Video Solution



https://dl.doubtnut.com/l/_Jh5in37V8EiJ
https://dl.doubtnut.com/l/_P9ihsvr6wzPF

4. Pressure exerted by a liquid

with the decrease in the density of liquid .

o Watch Video Solution

5. The hulls of the are made

very strong to withstand huge pressure

exerted by the seawater.

o Watch Video Solution

Exercise 3 2 Statements


https://dl.doubtnut.com/l/_XhcQFJW1MIjW
https://dl.doubtnut.com/l/_kBpdG9XjQiGg

1. Pressure exerted by a liquid is ...

proportional to the density of liquid.

° Watch Video Solution

2. The pressure in an enclosed liquid is

transmitted in all directions .

o Watch Video Solution



https://dl.doubtnut.com/l/_6HfH6Gsmf6dr
https://dl.doubtnut.com/l/_ihcXPvCTSEF1

3. Different liquids exert the same pressure at

a given depth.

° Watch Video Solution

4. Deep sea divers wear specially designed
suits to protect themselves from deep sea

creatures,

° Watch Video Solution

Exercise 3 2 Write True Or False


https://dl.doubtnut.com/l/_RP3MERLSBe8o
https://dl.doubtnut.com/l/_vP7MM1m0cTBl

1. More the density of a liquid, less the

pressure it exerts.

° Watch Video Solution

2. Liquid always seek their own level.

o Watch Video Solution



https://dl.doubtnut.com/l/_LCZtDrzco9Jc
https://dl.doubtnut.com/l/_xCMNMrjh6k71

3. At a given depth a liquid exerts more

pressure in downward direction, then in the

upward direction.

o Watch Video Solution

4. Dams are made thicker at the base to

withstand huge pressure of water. True/False.

° Watch Video Solution

Exercise 3 2 Tick The Most Appropriate Answer


https://dl.doubtnut.com/l/_d0BNsl7qpHBv
https://dl.doubtnut.com/l/_eJlyVPFBbM78

1. Pressure exerted at any point of an enclosed

liquid is transmitted

A. towards the sides of vessel

B. towards the base of the vessel

C.in all directions

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oRBjtR5LhgPk

2. Pressure exerted by a liquid at a given point

is:

A. directly proportional to the depth of the

point in liquid

B. directly proportional to the density of

liquid

C. both (a) and (b)

D. none of these

Answer:



https://dl.doubtnut.com/l/_e6aIKMnY0wer

I 0 Watch Video Solution I

Exercise 3 2 Study Questions

1. How does liquid pressure depend upon the

following

A. depth of liquid

B. density of liquid

C. acceleration due to gravity


https://dl.doubtnut.com/l/_e6aIKMnY0wer
https://dl.doubtnut.com/l/_TCCN0uIY05qI

D.area of cross-section of containing

vessel.

Answer:

° Watch Video Solution

2. State Pascal's law for the transmission of

pressure in enclosed liquids.

o Watch Video Solution



https://dl.doubtnut.com/l/_TCCN0uIY05qI
https://dl.doubtnut.com/l/_pgaJxhDyxQti

3. Why are the walls of hydroelectric dam

made thicker at the base?

o Watch Video Solution

4. Why do the deep sea divers wear specially

designed suits?

o Watch Video Solution



https://dl.doubtnut.com/l/_s1qzDH4WRSx8
https://dl.doubtnut.com/l/_UOo2Q6yA3PdS

5. Why are the hulls of submarines specially

strengthened?

o Watch Video Solution

6. Why do the bodies of deep sea burst when

they are brought to the surface of sea?

o Watch Video Solution

Exercise 3 3 Fill In The Blank


https://dl.doubtnut.com/l/_Cc7a6qCrEBLv
https://dl.doubtnut.com/l/_8Gm4HscZfUEE
https://dl.doubtnut.com/l/_kHVn7OctHMHd

1. The atmospheric pressure at Is

100,000 pascals.

o Watch Video Solution

2. Mercury is used as a barometric luquid

because it is times denser than

water.

o Watch Video Solution



https://dl.doubtnut.com/l/_kHVn7OctHMHd
https://dl.doubtnut.com/l/_YogCrVmSEhEz

3. The empty space above mercury in a simple

barometer is called vecuum.

o Watch Video Solution

4. Atmospheric pressure can support

vertical height of water.

o Watch Video Solution



https://dl.doubtnut.com/l/_FIb4xu9JOm9E
https://dl.doubtnut.com/l/_iisJmcTwNIbb

5. The common water pump works on the

principle that atmosphere exerts

o Watch Video Solution

Exercise 3 3 Statements

1. The moisture present in mercury increases

the barometric height of simple barometer.

° Watch Video Solution



https://dl.doubtnut.com/l/_aqyEuVPPqkHX
https://dl.doubtnut.com/l/_KNVLZrxheE0R
https://dl.doubtnut.com/l/_eyrzvuMCc6Hr

2. When the piston of common water pump is

raised its piston valve opens.

o Watch Video Solution

3. When the piston of common water pump is

lowered its foot valve opens.

° Watch Video Solution



https://dl.doubtnut.com/l/_eyrzvuMCc6Hr
https://dl.doubtnut.com/l/_kRwvHNHYnJUf

4. The vertical height of mercury in a simple
barometer is dependant on the area of cross-

section of barometer tube.

o Watch Video Solution

5. Water barometer is possible provided

barometer tube is 9 m long.

o Watch Video Solution

Exercise 3 3 Write True Or False


https://dl.doubtnut.com/l/_zyDun3PK6O8z
https://dl.doubtnut.com/l/_debAFoRN4pvd

1. Aneroid barometer uses pure mercury.

° Watch Video Solution

2. The air pressure can support 13.10m

vertical column of mercury.

o Watch Video Solution



https://dl.doubtnut.com/l/_Aw604x1aOdnI
https://dl.doubtnut.com/l/_OTGqH4DctuCW

3. As we go high in the mountains the

atmospheric pressure decreases.

o Watch Video Solution

4. A simple barometer is compact and

portable.

o Watch Video Solution



https://dl.doubtnut.com/l/_1qfX63BX6e7b
https://dl.doubtnut.com/l/_SyETEM23J7BL

5. The foot valve of lift pump is placed in the

piston.

o Watch Video Solution

Exercise 3 3 True The Most Appropritate Answer

1. Water is not used as a barometeric liquid

because:


https://dl.doubtnut.com/l/_ZF4eiSjVAZV3
https://dl.doubtnut.com/l/_ZSEweuyW5xIs

A. it is difficult to have a barometer tube 11

m long.

B.water  vaporises under  vacuum

conditions.

C. water sticks to the side of glass tube.

D. all the above

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZSEweuyW5xIs

2. The space above the mercury in a simple

barometer is called :

A. Torcellian vacuum

B. Newton's vacuum

C. Archimede's vacuum

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0KOy0Yj7higQ
https://dl.doubtnut.com/l/_E4LHlUTWPwf8

3. The vertical height of mercury which a

simple barometer can support at sea level is:

A. 76 cm

B. more than 76 cm

C.less than 76 cm

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_E4LHlUTWPwf8

4. When the ink fountain pen leaks on high

altitude :

A. pressure of air is more outside than

inside the ink pen.

B. pressure of air is less outside than inside

the ink pen.

C.the density of ink on high altitude

decreases.

D. none of these


https://dl.doubtnut.com/l/_1iE9iWMMUjqZ

Answer:

o Watch Video Solution

Exercise 3 3 Match The Column

Column A Column B
1. A device for lifting groundwater. (a) Mercury barometer
2. A device used to find pheric pressure and uses mercury. (b) Foot valve
| 3. A device used to find atmospheric pressure which does not use (c) Common water pump
mercury.
4. A valve in the common waler pump which does not aliow the {d) Aneroid barometer
water to flow back.

o Watch Video Solution

Exercise 3 3 Study Questions


https://dl.doubtnut.com/l/_1iE9iWMMUjqZ
https://dl.doubtnut.com/l/_QCCwT6DAYR6C

1. What do you understand by the term
atmospheric pressure? What is its average

value at sea level?

o Watch Video Solution

2. The atmospheric pressure on a hill is 68 cm
of mercury. What do you understand from the

statement?

o Watch Video Solution



https://dl.doubtnut.com/l/_hqWvh7pht9oG
https://dl.doubtnut.com/l/_zY14EokwoMes

3. How does atmospheric pressure change

with the change in altitude?

o Watch Video Solution

4. Briefly describe construction of a simple

barometer.

o Watch Video Solution



https://dl.doubtnut.com/l/_JNEujH98VvjJ
https://dl.doubtnut.com/l/_enlDm3lxzmaA

5. Why is mercury used as a barometric liquid?

Give three reasons.

o Watch Video Solution

6. Why is not water used as a barometric

liquid? Give two reasons.

o Watch Video Solution



https://dl.doubtnut.com/l/_B5gehf9w3Uca
https://dl.doubtnut.com/l/_M2TuOxljEseU

7. Why do ink pens start leaking at high

altitudes?

o Watch Video Solution

8. Why is hearing affected while going up or

coming down from the hills?

o Watch Video Solution



https://dl.doubtnut.com/l/_cHlMOs8s2bvV
https://dl.doubtnut.com/l/_nb5oYtIRu0nj

9. Why does the nose of some people start
bleeding when an aeroplane climbs up

suddenly?

o Watch Video Solution

Solved Examples

1. A spanner is used to unscrew a nut. A force

of 30 N is applied to the end of the spanner,

which is 10 cm away from the centre of the


https://dl.doubtnut.com/l/_JJd5cySNjzYo
https://dl.doubtnut.com/l/_8Kwmk0lkuTa5

nut. Calculate the moment of force when the

spanner is horizontal.

o Watch Video Solution

2. Calculate the pressure in the following cases

(i) On the surface of a block, if it weighs 60 N
and is lying on a side with area 0.3 m x 0.1 m.
(i)On the same 60 N block , if it is lying on a

side with area 01 mx 0.2 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_8Kwmk0lkuTa5
https://dl.doubtnut.com/l/_HYy9mbkKv5vQ

3. Calculate the pressure in the following cases

i. On a surface with area 10cm? if a force of
1200 N is acting normally on it.
ii. On the same area (1Ocm2) if the normal

force is increased to 2000 N.

° Watch Video Solution

4. A cubic lump of cheese of area 10cm? and

weight 3 N stands on a table. Calculate the


https://dl.doubtnut.com/l/_HYy9mbkKv5vQ
https://dl.doubtnut.com/l/_N05KIdmLTpNS
https://dl.doubtnut.com/l/_IMwglrMvmtYx

pressure exerted by it on the table?

o Watch Video Solution

5. A load weighing 20,000 N is placed on a side
with area 1000cm?. How much pressure would

it exert on the ground?

o Watch Video Solution

6. Calculate the pressure produced by a force

of 800 N acting on an area of 2m?


https://dl.doubtnut.com/l/_IMwglrMvmtYx
https://dl.doubtnut.com/l/_pAYn7fJuSGFw
https://dl.doubtnut.com/l/_Q1p5JoFJgMVy

° Watch Video Solution

7. A physics teacher has a weight of 700 N.
What pressure does he exert on the ground if
his feet have an area of 0.025m? each?

(Remember, he has two feet!)

o Watch Video Solution

Questions Choose The Correct Option To Fill In

The Blank



https://dl.doubtnut.com/l/_Q1p5JoFJgMVy
https://dl.doubtnut.com/l/_5nhMdsGerANz
https://dl.doubtnut.com/l/_V4OcQNZfuUEG

| FR—— (Torque/Pressure) is the tendency of

force to produce rotation.

o Watch Video Solution

2. If the perpendicular distance between the
pivot and the point of application of the force

is more, then torque is .....(more/less).

o Watch Video Solution



https://dl.doubtnut.com/l/_V4OcQNZfuUEG
https://dl.doubtnut.com/l/_s11po0FNlzeP

3. When the area on which force applied is

less, then the pressure will be ... (less/more)

° Watch Video Solution

4. If you use the blunt edge of a knife, you
need ... (more/less) force to cut an object

AS Area IS .uveeveeeeerecenane (more/less).

° Watch Video Solution



https://dl.doubtnut.com/l/_EuVtybNiUqoa
https://dl.doubtnut.com/l/_V5r8QnVUKrgB

5. As we go high in the mountains the

atmospheric pressure decreases.

° Watch Video Solution

6. When air is sucked out of the straw, it
CAUSES AN .eerene. (increase/decrease) in the air

pressure inside the straw.

° Watch Video Solution



https://dl.doubtnut.com/l/_32ieRgbn7qhC
https://dl.doubtnut.com/l/_mBdFKXNAY0xA

7.We ... (do/do not) feel the atmospheric

pressure as our body almost balances it out.

o Watch Video Solution

8 Pressure in a liquid ... ...

(increases/decreases) with depth.

o Watch Video Solution

Exercises Section | Name The Following


https://dl.doubtnut.com/l/_tZoBZModP4zG
https://dl.doubtnut.com/l/_X3i6A2ifCwQD
https://dl.doubtnut.com/l/_sRV6GtszDphi

1. State turning effect of force with example

from daily life.

o Watch Video Solution

2. The force acting normally on the unit area

of a surface

° Watch Video Solution

3. The Sl unit of torque is Nm and not joule.

| e |


https://dl.doubtnut.com/l/_sRV6GtszDphi
https://dl.doubtnut.com/l/_WqqdjWLMZxqd
https://dl.doubtnut.com/l/_toYeSunRlSxd

& Wwatch Video Solution ]

4, State and define the Sl unit of pressure.

° Watch Video Solution

5. Force exerted on unit area of a surface by

the weight of the air above it

o Watch Video Solution



https://dl.doubtnut.com/l/_toYeSunRlSxd
https://dl.doubtnut.com/l/_TtbO6sxFsHt6
https://dl.doubtnut.com/l/_Epc6QC5OLYJ2

6. Name the device with which atmospheric

pressure is measured.

o Watch Video Solution

Exercises Section | Choose The Correct Option

1. Torque is calculated as .........

A. F/d

B.Fxd


https://dl.doubtnut.com/l/_sDVKsQspw7Tf
https://dl.doubtnut.com/l/_kqAhMDfuia3D

C.F/d?

D.F x d?

Answer:

° Watch Video Solution

2. Pascal is.....

A.Nm

B.N/m

C. Nm?


https://dl.doubtnut.com/l/_kqAhMDfuia3D
https://dl.doubtnut.com/l/_VMLIiVLcW9AM

D. N /m?

Answer:

° Watch Video Solution

3. Which of the following is not a turning

effect of force?

A. Twisting the lid to open or close a jar

B.Holding and turn a pencil inside a

sharpener


https://dl.doubtnut.com/l/_VMLIiVLcW9AM
https://dl.doubtnut.com/l/_skmV6IGIjWpq

C. Pumping air into a football

D. Opening and closing of doors with

hinges

Answer:

o Watch Video Solution

4. Pressure exerted on a surface depends on

A. force and distance


https://dl.doubtnut.com/l/_skmV6IGIjWpq
https://dl.doubtnut.com/l/_FkG7EpGH88DV

B. density and area

C. area and force

D. force and density

Answer: C

o Watch Video Solution

5. The liquid pressure at a point depends on

which of these factors?

A. Height and depth


https://dl.doubtnut.com/l/_FkG7EpGH88DV
https://dl.doubtnut.com/l/_jycDxa6Jl76V

B. Shape and depth

C. Height and density

D. Area and density of liquid

Answer: C

o Watch Video Solution

6. The value of atmospheric pressure on the

Earth's surface is .........

A. 10 kPa


https://dl.doubtnut.com/l/_jycDxa6Jl76V
https://dl.doubtnut.com/l/_RDlMwnVGDs5m

B. 100 kPa

C. 1000 kPa

D. 500 kPa

Answer:

o Watch Video Solution

Exercises Section | Write T For True And F For

False Correct The False Statements



https://dl.doubtnut.com/l/_RDlMwnVGDs5m

1. If a force is applied to an object, away from
its centre of mass, it tends to rotate the

object.

o Watch Video Solution

2. A small force can create a large pressure if

its area is large.

o Watch Video Solution



https://dl.doubtnut.com/l/_AdWtMgJEUXMj
https://dl.doubtnut.com/l/_8V20ullywnoI

3. As we go higher, the density of air increases

and hence pressure decreases

° Watch Video Solution

4. Drinking straw and medicine dropper work

because of atmospheric pressure.

o Watch Video Solution



https://dl.doubtnut.com/l/_at5zWyuJIxmE
https://dl.doubtnut.com/l/_jWH6w4yDvo0O

5. The liquid pressure at a point depends on

which of these factors?

° Watch Video Solution

6. The external atmospheric pressure acting
on the rubber sucker forces the sucker against

the flat surface.

° Watch Video Solution



https://dl.doubtnut.com/l/_VO03BsiYOTAU
https://dl.doubtnut.com/l/_0J1wqZjAMpKS

Exercises Section | Choose The Correct Option To

Fill In The Blank

| PR (Pressure/Torque) is equal to the
product of the force applied and the
perpendicular distance between the pivot and

the point of application of the force.

o Watch Video Solution

2. If the perpendicular distance from the axis

of rotation is more, then torque will be ...


https://dl.doubtnut.com/l/_ctSLyZbwkxIT
https://dl.doubtnut.com/l/_ZWqgEyPrlt0P

(more/less)

o Watch Video Solution

3. A large force can create a small pressure if it

is spread out over a ... (wide/small) area.

° Watch Video Solution

4. As we go higher, what happens to the

atmospheric pressure?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZWqgEyPrlt0P
https://dl.doubtnut.com/l/_ZkAgpOmPP9i0
https://dl.doubtnut.com/l/_uni8TVAxzuG4

5. Heavy vehicles, such as trucks and buses
that carry loads have ... (thick and
wide/thin and small) tyres to exert less

pressure on the ground.

° Watch Video Solution

6. Pressure in a liquid ... ...

(increases/decreases) with depth.

o Watch Video Solution



https://dl.doubtnut.com/l/_uni8TVAxzuG4
https://dl.doubtnut.com/l/_tK5Qsy1B3gsC
https://dl.doubtnut.com/l/_0WDjtmSksjsG

Exercises Section li Give Reasons For The

Following

1. The Sl unit of torque is Nm and not joule.

° Watch Video Solution

2. Why is it easier to open a door by applying

the force at the free end of it.

o Watch Video Solution



https://dl.doubtnut.com/l/_0WDjtmSksjsG
https://dl.doubtnut.com/l/_F0sjhzfYwwrS
https://dl.doubtnut.com/l/_OVPQJJspih7D

3. If a person wearing a narrow-heeled shoe
accidentally steps on you, it will hurt more in
comparison to a shoe with a wider base. Give

reason.

° Watch Video Solution

4. School bags or shopping bags have broad

straps.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZOYbSTg8DHDE
https://dl.doubtnut.com/l/_J3jvlP8oq01K
https://dl.doubtnut.com/l/_vjXPntIVu1r5

5. As we go higher, what happens to the

atmospheric pressure?

° Watch Video Solution

6. Deep sea divers wear specially designed
suits to protect themselves from deep sea

Creatures,

° Watch Video Solution



https://dl.doubtnut.com/l/_vjXPntIVu1r5
https://dl.doubtnut.com/l/_T2vkddyh3sRA

Exercises Section li Distinguish Between The

Following

1. Force and torque

o Watch Video Solution

2. Force and pressure

o Watch Video Solution

3. Liquid pressure and atmospheric pressure


https://dl.doubtnut.com/l/_sR8iOux8XPSY
https://dl.doubtnut.com/l/_Ja7amJBW2SDR
https://dl.doubtnut.com/l/_yRskfbglV1Cx

° Watch Video Solution

Exercises Section li Short Answer Questions

1. What are the two factors that affect the

moment of force, and how?

o Watch Video Solution

2. Define the term pressure.

o Watch Video Solution



https://dl.doubtnut.com/l/_yRskfbglV1Cx
https://dl.doubtnut.com/l/_f07HtwVfU9Y3
https://dl.doubtnut.com/l/_YfDy5TcV9sdF

3. The edge of knife is sharpened to increase

the pressure. True/False.

o Watch Video Solution

4. What is the value of atmospheric pressure

at sea level and on Mount Everest?

o Watch Video Solution



https://dl.doubtnut.com/l/_YfDy5TcV9sdF
https://dl.doubtnut.com/l/_97PXNnPjORY5
https://dl.doubtnut.com/l/_ufdTlZeXrmX1

5. How does a syringe work?

o Watch Video Solution

6. The walls of dams are made stronger and

thicker at the bottom. Why?

o Watch Video Solution

Exercises Section li Long Answer Questions



https://dl.doubtnut.com/l/_rSel8Vc1r5PY
https://dl.doubtnut.com/l/_TrNgoz11HJwB

1. State turning effect of force with example

from daily life.

° Watch Video Solution

2. Write the factors on which pressure acting
on a surface depends. Write two examples

from daily life.

° Watch Video Solution



https://dl.doubtnut.com/l/_JZT0ea5yERpO
https://dl.doubtnut.com/l/_MSbMeZU618Te

3. Explain atmospheric pressure. On what

factors does it depend and how?

o Watch Video Solution

4. How does a vacuum cleaner work?

o Watch Video Solution

5. Explain liquid pressure. On what factors

does it depend and how?



https://dl.doubtnut.com/l/_1luLJVmPPD0Y
https://dl.doubtnut.com/l/_ivOiAFWAbKC6
https://dl.doubtnut.com/l/_ml29PRrJCkjW

o Watch Video Solution ‘

Exercises Section li Numerical Questions

1. The breadth of an iron door is 2.4 m. If the

minimum torque required to open the door is
50 Nm, what is the minimum force required to

open the door?

o Watch Video Solution



https://dl.doubtnut.com/l/_ml29PRrJCkjW
https://dl.doubtnut.com/l/_wFZv7zcWzVzq

2. The amount of force to be applied on the
spanner at a length of 0.25 m from the bolt is

400 N. Find the torque to open a bolt.

o Watch Video Solution

3. Determine the torque on a bolt, if you are
pulling with a force of 250 N directed

perpendicular to a wrench of length 20 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_zG4HoUVCVkHd
https://dl.doubtnut.com/l/_b9BAgChXIDrK
https://dl.doubtnut.com/l/_lyNnnCoNnOlk

4. The moment of a force of 50 N about a
point is 5 Nm. Find the perpendicular distance

of force from that point.

o Watch Video Solution

5. A force of 1000 N acts on an area of

0.050m?. Find the pressure in pascals.

° Watch Video Solution



https://dl.doubtnut.com/l/_lyNnnCoNnOlk
https://dl.doubtnut.com/l/_6GKH8LMUf5nG

6. Find the force that produces a pressure of

20 kPa on an area of 0.20 m??

° Watch Video Solution

7. Calculate the area of a body which
experiences a pressure of 60 kPa by a force of

12,000 N.

° Watch Video Solution



https://dl.doubtnut.com/l/_UI9zHYz8MXi9
https://dl.doubtnut.com/l/_LjaEuc1K6hlx

8. A block of weight 100 N and dimenions 50
cm x 30 cm x 10 cm rests on a table in three
different positions with its base as (a) 50 cm x
30 cm, (b) 30 cm x 10 cm, (C) 50 cm x 10 cm.

Calculate the pressure exerted in each case.

o Watch Video Solution

9. If a girl is wearing a pointed heel which has
an area of cross section 2cm?, and if her mass

is 650 N, find out the pressure exerted by her


https://dl.doubtnut.com/l/_VcNrTWiuSA0V
https://dl.doubtnut.com/l/_C7MQ7qlS4689

on the floor (remember to calculate for both

legs)

° Watch Video Solution

10. An office safe has a weight of 800 N. If the
area of the base is 1.25 m2, what is the

pressure on the floor of the office?

° Watch Video Solution

Picture Study



https://dl.doubtnut.com/l/_C7MQ7qlS4689
https://dl.doubtnut.com/l/_3syIqy5UulGJ
https://dl.doubtnut.com/l/_GUnXdaZiC9zs

1. A shallow lake and a deep pond are shown in
Figure A. Which of them will have greater

pressure at the bottom. Give reason.

wirall bt
large bt

cpgp Pl

shabiow lake

=

Fig. &

o Watch Video Solution

2.In Figure B, mark the following:

a. The layer in which the atmospheric pressure


https://dl.doubtnut.com/l/_GUnXdaZiC9zs
https://dl.doubtnut.com/l/_dQ7i6t7pyDyZ

is the highest.

b. The layer in which the atmospheric pressure
is the lowest.

c. The layer where there are lots of air
molecules.

d. The layer where there are less number of air

molecules.

_— Ly &

° Watch Video Solution



https://dl.doubtnut.com/l/_dQ7i6t7pyDyZ

3. Compare the actions in Figure C and explain

what happens in both cases and why?

o Watch Video Solution

4. Classify the tasks shown below into

examples of force and torque.


https://dl.doubtnut.com/l/_O0ZuEfHSFRSZ
https://dl.doubtnut.com/l/_wNzAEzsp5vEK

o Watch Video Solution



https://dl.doubtnut.com/l/_wNzAEzsp5vEK

